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' The figures in the right-hand margin indicate marks

Candidates are required 1o give their answers in their
own words as far as practicable

Illustrate the answers wherever necessary

[NEW SYLLABUS]

FIRSTHALF
(Use seperate answer sheet)

( Micro Economics - 11)

Marks : 45

( Burn Over )



(2)

GROUP ~ A
1. Answer any five questions : 2x5
(a) What is normal profit ?
(b) What is monopsony ?
(c) Whatis quasient ?
(d) What is derived demand ? |
() Whatdo you mean by Pareto Efficiency ?
(/) Distinguish between MRP, and VMP,.
(g) What is externality ?

(A) Define contract curve.

GROUP - B
Answer any three questions : §5%x3

2. Whatis Prisoner's dilemma and how is it related
to oligopoly ?

3. State equilibrium condition of a multiplant
monopolist.

UGAVECO/MVIT/ 18(New) ( Continued)



(3)

4. State and prove Euler's Product Exhaustion
theorem.

5. Explain the concept of Bilateral monopoly.

6. Define and explain marginal productivity theory
of labour.

7. Define production possibility frontier. What are
the interpretations of slope. of production
possibility frontier.

GROUP -C
Answer any two questions : 10 x 2

8. Examine the effects of lumpsum tax and excise |
duty on the price and output of a monopolist. 10

9. Explain how the optimum quantity of output is
determined when there in imperfect competition.

| What are the conditions of profit maximization
when there is imperfect competition ? i
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10. What is Pareto optimality. Explain Pareto
optimality in 2 % 2 general model of consumption
and production. - 3+7

11. Assume that the product market is perfectly
competitive. Show how the wage rate and the
level of employment are determined when the

labour union enjoys monopoly power over the
supply of labour.

SECOND HALF
(Use seperate answer sheet)

( Macro Economics - 11)

Marks : 45
GROUP-A

1. Answer any five questions : 2x5

(a) What do you mean by Acceleration
Principle ?

(b) What is Laffer curve ?

(¢) What do you mean by free rider problem ?
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(d) Write the conditions for product market
equillibrium.

(¢) What is the significance of liquidity trap ?

(/) What s the relation between Bond price, rate
of interest and yield of the bond ?

(g) What is warranted rate of growth ?
(h) Define Phillips curve.

‘GROUP - B
Answer any three questions : 5%3

Write a short note on crowding out effect.

Explain the four phases of real business
cycle. '

Explain the notion of Balanced Budget
Multipleat.

Compare and contrast between Harrod and Domar
models of growth.
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Explain why in long run there may not be any
relation between unemployment and inflation.

What is money-wage ? How does flexibility in
money wage and price ensure output and
employment level always at full-employment
level in classical model.

GROUP - C
Answer any two questions : 10 x 2

Define inflation. Discuss the methods which are
used to control inflation. 10

Explain how income and output are determined
in a simple Keynesian model. 10

How does the shape of AS determines the
effectiveness of fiscal and monetary policy in
macroeconomics ? (AS = Aggregate Supply) 19

What is IS curve ? What are the determinants

of stope of IS curve ? When does IS curve may
shift. 2+4+4
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